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* Elasticity allows us to analyze supply and demand with

<o
greater precision.
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It is a measure of how much buyers and sellers XY /\

respond to changes in market conditions , .
Deliniki S Voo gusNasgs ol S O Nag 3 3D
—— : inition___ JEERP IR oy Q33 St €2,
* Elasticity is defined as the responsiveness of a Tys$ 03 P
dependent variable to changes in another variable,
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Elasticity measures are free of units of measurement
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Groeane Elasticity Qual.'ltity df.'rr!andfad is negatively related t-o
: price. This implies that the demand curve is
downward sloping (holding ALL other

variables constant)
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quantity (q) demanded of a good falls

when the price (p) of the good rises



Demand Curve

—The demand curve is a graph of the relationship Quottity demonded  goyi b Price  gas cu
between the price of a good and the quantity “*
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ELASTICITY OF DEMAND

~ Definidien ttowhet extent

*Price elasticity of demand is a measure ofshow much

the quantity demanded of a good responds to a change
in the price of that good.

* Price elasticity of demand is the pemgﬁfage change in

quantity demanded given a percent chaﬁt{e in the
» £

price.

Most experts believe
that health care
demand is fairlf
inelastic. If you are
sick, you will not be
very price sensitive.
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There are excegtlonﬁoﬁls rule (e.g., elective w Sl G @ G RS a0 ¢ el e
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surgery such as plastic surgeries) but most studies

find that patients are fairly insensitive to changes in “awty st U CElaskic  Ggmn o) 3% 5t W O
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bt there ore  some excephions (Elastic) Like:

Plastic  Surgeries , Hollyweed smnile, filler ...

( 5y i 030 Qs BT B) Oemond s O3 89

Hollywoed  Smile Filler

L

S Price Elesticity of Oumend yiasy Ly g6 &Y, Determinonts P e/ Price Elasticity of Demand and Its Determinants

S S eicamt oM 330 v *Availability of Close Substitutes

W)

.t = - = \)3YP )
G N 5uon) P i Need/ NeceSSer) . 2R3 2 Vs Seerdn * Necessities versus Luxuries

The following picture contains two goods, one is insulin injection * Definition of the Market (Morkek E3%))
for diabetic patient, and the other is for travelling by star ént [ W E AT EEST
ship eTime Hosrizon actors that Affect Elasticity

if both goods increase in price, which of these goods will have
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lower demand than the other? Travelin cruise Ship becesse it Qb FH P a0 85 _ _
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kindly share your answer here..... and can you explain why? S
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see less

Time Horizon
Dsfinition of the
market

1. Availability of Close Substitutes:
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The more substitutes a good has, the more elastic its = Lt Sos (Brond e bl &*

demand.
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Necessities are more price
inelastic.
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* The prices of both of these goods rise by 20%. ., = _ s & s e
For which good does Qg drop the most? Why? b e 5 e S S cotid

®um’ti{3 Demonded

« To millions of diabetics, insulin is a necessity.
A rise in its price would cause little or no decrease

in demand.

A cruise is a ‘luxury. If the price rises,
some people will forego if. ™ Sy

- Lesson: Price elasticity is higher for luxuries than

for necessities. A
v
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¢ Eece o L How can the knowledge on elasticity of demand
 Blasticity of Demond  Or wdnad Selteid® aiacts government's tax policy?
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If the government were to impose it on good or
o ) e . services which its demand is relatively elastic, a
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to a large drop in sales, thus may not raise revenue
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3. Definition of the market: *Noscowly Oclined Markets
I\f;;:%“my defined markets have more elastic demand than broadly C..’
defined markets. LD Sy el oS oy o

This is
because, generally, it is easier to find
substitutes for narrowly defined goods.
Food as a broad category, ice cream as a
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why
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demand over longer time horizons ?(new technologies,
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Y= innovations, better quality).
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Factors that Affect Elasticity
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Computing the Price Elasticity of Demand
The price elasticity of demand is computed as the p—
39S Smia I"._I.‘ :.’ Jb ja s fy' j.&“
percentage change in the quantity demanded divided by i
the percentage change in price.
Price Elasticity of Demand Formula e
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Example: If the price of an ice cream cone |

increases from $2.00 to $2.20 and the amount you  pED= Percentene % in QM{,{WM

buy falls from 10 to 8 cones, then your elasticity of ?mw w n er.‘(g
demand would be calculated as: Amount u}u:ae-\ .
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There is no cherme in the emount demonded Most academics believe that the price
elasticity for medical services is between 0
According {o the chenge of the price. W;y\. -

and -1. This means that if prices increase by

c1 D s Rop s Pound  demended ot ; -
1 DT Byu ity 28 demended otor 10%, the demand for medical services

740 3 §B S ¥ 335 Sy Amount .
aaad (d\ecreases, but by less than 10%. This means

that medical goods are inelastic.

£
The Variety of Demand Curves

*Inelastic Demand f\’

* Quantity demanded does not respond strongly to

price  Changes © Syd Sopa yaSi® Ul yIT 6 LALLas ol
price changes.
o . N
* Price elasticity of demand is less than one. percentene chonge in Amount= purcentsge. Chonge in pPrice
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* Elasticity is defined as the responsiveness of a
dependent variable to changes in another variable,

Elasticity measures are free of units of measurement

* Price elasticity of demand is the percentage change in
guantity demanded given a percent change in the

price.

Most experts believe that health care demand is
fairly inelastic. If you are sick, you will not be

very price sensitive. (exceptions????) ‘ ‘
| .

Factors that Affect Elasticity

Avallability of 2 T Necessity of the
Substitutes 3 Product
A

=y -
Time Horizon ( )b ( 3
el

=

Definition of the
market

The more substitutes a good has, the more elastic its demand.

+ Lesson: Price elasticity is higher for luxuries than
for necessities.

Narrowly defined markets have more elastic demand than broadly
defined markets.

Goods tend to have more elastic demand over longer time

horizons.

. Unitless
PED _ Percentage Change in Quantity

Formula Percentage Change In Price wP m\-‘" f—;’_‘-t”“"e}‘@'s’ *
Absolute ualue of the a3\,
Elasticity
(SWAS Span)

i sllaall abud) s3e b pail) duusd

Ol
Aalud) Gl o 8 33 M




Example: If the price of an ice cream cone
increases from $2.00 to $2.20 and the amount you
buy falls from 10 to 8 cones, calculate elasticity of

demand.
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The Midpoint Method: A Better Way to Calculate

Percentage Changes and Elasticities

The midpoint formula is more accurate when calculating

the price elasticity of demand.

03-@1. Ny Q=Q0ﬂ\(\&3 S
xPED= (Gyode (-
Pa- Py
P+ fl) l2
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Aungrdor =100 =W yioo =
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Coat'ad
PED o $p = 2l
9.9
Umtless
_

Example: If the price of an ice cream cone increases from
$2.00 to $2.20 and the amount you buy falls from 10 to 8
cones, then your elasticity of demand, using the midpoint
formula, would be calculated as:

Quotkity Decreosed s 0P €— (L0=8)
(10+8)/2 _22‘%_232
Price. Increase s e (2.20-2.00) 9.5% '

(2.00 +2.20) /2
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This curve represents the relationship between the price of a certain 14

good and the amount demanded of the same good. It looks
different from the demand curve we studied.
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@ =9 +« Becouse CElasticity= pescentone of chenge inthe omount/
9q/l.... Percentege honge in the price

Slope of demand curve: And (Q"’ @ =°)

*When the elasticity is equal tohzero the demand is
1- perfectly inelastic and is a vertlcal line

2
*When the elastFCIt\{;_!.sbmfmlte, the demand is perfectly
elastic and is a horizontal line

(Cme wm 2) r3)

Price Perfectly Price
Inelastic
Demand w 0=0 Perfectly
Elastic *E“s{'\C&ﬁ = §
Demand N
1
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Perfectly Inelastic: Quantity *Perfectly  Elastic Quantity
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demanded does not respond te price

changes. (£30) any change in price. (E550) EPAECY
Mowe o ceckoin Limik in price  WWS .
Amounit demended = 0 Fe0 S e
Price Perfectly Price
Inelastic
Demand .
. st G owet 3o Perfectly Elastic
Demand
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Uncammant/ 368 1.0
Perfectly Inelastic:  Quantity Rore
Price demanded does not respond to price
Demand
a changes. (E = 0)
Unitary * Perfectl Elastic: uantit
Flastcly . sty
demanded changes infinitely with
\ any change in price. (E = )
_ : , ™ pgp= 30% = 2
*Unit Elastic: Quantity demanded 30°/.
changes by the same percentage as 2 A W ol A Ve
& E=10 Quaniity Fiatln syBladad Ke '
S ysi the price. (E = 1)

(ﬂ) Unit  FElastic -

Price of
Ice-Cream Cone
(\ ,_-_-J“;_'.)\ $3.004 3 _:fuo;n - Qua;:ity of
\ - . . . . - - - . 0\..” e-Craam Cong ‘ones Demanded
2 yas oy Demend Price o 05 P ¢ Spgse Tndervals (3D 22 -k - .
& 1
— : 190 s
. Crease 1 1,50 B
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FRe YN By Dermons * 0-S o sl il sy el 9f ema ge PP P 3% .
[l 3.00 o
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e
At g 2 —T
T ) e S
1 i | 1
. - LY Y . . T B T B ! [
o\ Ué\é'&—“yy\\‘\b\-"éj ‘-}\-5\)0';9(— @ (& 0123456 7 8 9101112 Quantity of

(Deomond & S0 3y At WL csf ¢ Price () LEM Fpls 0)

Applications

*The price of ice cream rises by 10% and gquantity
demanded falls by 20%. (Inverse relationship)

*Price elasticity of demand = (20%)/(10%) =2 >1 «> Elastic

*The price elasticity of demand is sometimes reported as a

negative number.

o , _ s 4 S8
*|gnore the minus sign and concentrate on the ahsolute

value of the elasticity

- Ice-Cream Cones
2. ...Increases quantity
of cones demanded.
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WPy ﬁm;&fqgé‘/l.;rger elasticities (in absolute value) imply greater

sensitivity and responsiveness
(2 085 ¢i o8 GRV NGO 0O Elasticity '3 Bfactors W

O adpa e JiEu Sepddinp e~ 1. How much would a 10% price increase for the
good affect a consumer’s total budget?

B ysals S (34) Substitutes a3 2. What substitutes are available for the good?

3. Do consumers think of this good as a necessity
or a luxury?

(InElestic)  or “iadudigas Elasticity « Mecessily b Guallly SNV, “Noek
(Blastic)  Osd3 By Oy el € Wy Lunury &ty Sa Yy
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Loyl 2 sy
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1. Vacation in Dubai (luxury, many other vacation
desﬁ‘r‘i‘ations, expensive) (It is Eksiic.)
2. Honda Accord (luxury, expensive, many substitutes
including used cars
including ysed.cars) S 050m ogats
3. Steak (perceived luxury, moderate expense, other cuts
of beef are close substitutes)  Elasdicity)

% perceived Lurury 3

dsh Tuas S 0y’ phzs ek W Aopadl CNIBN O
4. Mustard (perceived luxury, inexpensive, other types of 357 L2 b oud G Sopnll i

mustard may be close substitutes.) wb Tt is  Completely Elastic

5. Beef (moderate expense, chicken is a substitutes)

«wp Tt Con be considered (T Some exdent elastic,y
6. Salt (inexpensive, necessity, no close substitutes) To seme extamt inelastic)

)t N 0352) Wi chis gt e <3S
b Gandsic 5 et

(portially Inelastic) Sl 205 AN gt il
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demended  Undhenged = 100 () Perfectly Inelastic Demand: Elasticity Equals 0
o Demand

* Perfeclly Inedoslic  Demond $}_ verkicul
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1. An
* E=0 il
0 190 Quantity

2. ... leaves the quantity demanded unchanged.

The Price Elasticity of Demand

(b) Inelastic Demapgd: Elasticity Is Less Than 1
Price
/% o> PED= D =117 <2
1. A 22% ! Demand ¢ 22°/.
In price , ., L .&
TP od 03 Tnedastic  Oemond
e u _
5-4 4 1002° @@ Quantity
- b?, . leads to an 11% dacrease:‘rl: quantity demanded. less -“\.“ A W n\““‘\k om

Low 35 Amount  (Medicel Servites §a
100-% % 1aq)- =
(QL ) *50;[1

= \1 1.

Figure 1 The Price Elasticity of Demand

(c) Unit Elastic Demand: Elasticity Equals 1

E=1 (Unit Elasticity)

. Price
% the Some chony in Pre = the Some Chenge in quoniity
demended -
4
1‘ Damand
increass
in price . . .
N - . . oqd =3¢ . . o - . “ - * i
9 TP DL TENO i G g e 0 804,100 Quantity

SN Yag

2....leads to @ded&ase in quantity demanded.



PED= 63/ >1

{d) Elastic Demand: Elasticity Is Greater Than 1

Price N
curve  OP
r ek ©§
55 - -9
) i Demand
1. A 22%
increase
in price . . .
0

% ‘T % Quantity
. . leads to a 67% decrease in quantity demanded.

22/

G Eledic Demangd

Y
S paiee pb N Amennt Sups G
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The Price Elasticity of Demand

(e) Perfectly Elastic Demand: Elasticity Equals Infinity

Price €=
=96 1. At any price
D=0 & p=4 Sp " above $4, quantity
demanded is 7ero,
4 Demand
o - 2. At exactly S4,
SN St ) Pt anld consumers will .
.; .-. 3 ‘.5.\4 buy any quantity. m‘hh}
(o] Quantity
3. At a price below $4,
quantity demanded is

WEL 0 5 & Sl RSO g

(D §3)

Total Revenue and the Price Elasticity of
Demand
—p DeXinition
*Total revenue ASI Jadl! is the amount paid by buyers

-
and received by sellers of a good.

*Computed as the price of the good times the quantity
sold.

Total Revenue Formula

Total Revenue = Price?Quantity Sold

Multiplied by
(Suatht @ g\

o> Toled Revende T8 agya Elasticity  §s waw

>

O conda\ Or NS B
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Price
$4- L e % P=\ X Q:'\QD
P x Q= $400 C’ Revenue = Y%100 = w0
& (revenue) Demand el
&
| 3833 Yoo 85 3oy Salb e
0 100 Quantity
Q

< E\gs\&u’c‘s A\f Revvence e How Total Revenue Changes When Price Changes:
| Inelastic Demand

Toelstic  :Curie X Ud o

- . e ° Price Price
Uc,...&'.mﬂQ M:tﬂ@;\dr’ [ ieads w6 an inereasein |

total revenue from 3100 to
Increase in price: Total revenue increases

3240

53

Hevenue = 240

Revenie = $100 Remand

o U2

o Guantity a
6 =
€ =1 0=w0 88 oaNg % P=3  sesdipn®
Revenye = wo 0=30 € ca3)
Revenye = 240
QDI O sy s B30 %

'js.u

Ll of Qemond V' (5as
Tnelestic SNv$D 80 «— 190 O g8 &%

(oS S50 ySgo FNioM

Inelasticity and Total Revenue

With an inelastic demand curve, an increase in price

leads to a decrease in quantity that is proportionately

4
smaller. oD 2)'&"‘
Total revenue increases _Q“"‘Q% Destonded
<219 &P R 9y D
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E'GS“(. <«
How Total Revenue Changes When Price Changes: Elastic
Demand
Prics| Price
Elasticity and Total Revenue B o —

*With an elastic demand curve, an increase in the price

i
|
- Revenue = $100

o @ Quantity o & Quantity
Total revenue decreases g"‘ So\a p=s 5 P=2o VY-
=S0

= 00
Revenve = 200 UL

~__

Tolel Revenve Oeclesse
...:_Q. 9\.’\;%

Demand

leads to a decrease in quantity demanded that is

AN TP 02 S\ 8oy

" e
proportionately larger.

o A4

(b) Imelastic Demand: Elasticity Is Less Than 1

Price
Tolel Ruienve Luong o
i3] /\
1.A 22% ) - o R= 00 Rzuso
ey Inceslic o SivGs;
| | Sad S s T 0 e Ot oy

'] 80 }@ Quantity

2....leads 1o an 11% decrease in quanibty demandad, Mk DM ‘.'.D

The Price Elasticity of Demand

(d) Elastic Demand: Elasticity Is Greater Than 1 @ ?s 4y D=10 R_ 490
Price = = s
(4
u @ f-s 0=50 R-250 Elashic
4 e —— [ 8 mand
1A 22%
iy

0 50 c—T 100 Quantity

4 leads io a 87% decrease in quanlity demanded



